SEE DETAIL

PROPRIETARY NOTICE:

2
TTAQT6_SVC
N

A

THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTENS INC

NOTES :

m SHAFT TO BE FLUSH WITH BACK SIDE OF MOUNT,

APPLICABLE TO VIEWS ON THIS SHEET ONLY

2 PLACES

SPACER TO BE INSTALLED BETWEEN COUPLER AND MOTOR HOUSING.

‘ INSERT WASHER BETWEEN MOTOR AND PLATE,

2 POSITIO

FOR SERVICE
REFERENCE ONLY

NS ONLY.

24 2 [WASHER-265-500_SS 90706020 WASHER, 1 /4 FLAT SS .265x .50x .064
23 2 [Tw3T2 80071904 STOP, M4, L=16.26 (.64)
22 2 [Tw314 80071906 STOP, M4 , L=31.75(1.25)
21 I [Tw313 85000271 STOP, M4 , L=25.4
20 I [Tw394 85000269 STOP, CYAN #2 SG
19 | SPACER_5-3_10_5MM_NY 90702216 SPACER,5.3mm 1D x 10.0 x 5.0 LG NYLON
18 2 [Tw365 99260513 SHAFT, ACHROMAT 700M, Al
17 2 |SCREWM4ASQECUP-SSP 91190406 SCREW,M4 SOCKET SET, CUP, 06 SS W/PATCH
\\ 16 6 [SCREWM4AF08BZ 91040408 SCREW,M4 SOCKET CSNK FLAT 08 BZ W/PATCH
: 15 8 |SCREWM3ACO6W-BZ 91000306 SCREW,M3 SOCKET CAP 06 BZ SEMS
14 | w341 90721013 SCREW, LEAD FRESNEL LENS
13 2 |SCREW8-32AS250FLAT-BZ_ [90707091 SCREW, 8-32 SOCKET SET /4 BZ FLAT PT
12 8 [SCREWI2-24PF500TL-SZ 90711060 SCREW, 12-24 PHIL FLAT /2 THRD ROLL,TRI LOBE
I 4 [Tw318 90702313 SCREW, SHOULDER, M4, MOTOR MOUNT
10 I [TTI02 80070524 PLATE,MOUNT, YELLOW/CYAN §G 2.5
9 4 [NUTM4KEP 91201204 NUT, M4 KEPS
\@ 8 2 [Tw3ir 80070448 MOUNT, SHAFT Z0OM SG
1 | [MRI08_0I 99270075 MOTOR, STEP 2PH MET SIT7 I1.5mm ALNICO NMB
6 4 [MRQ09 99270083 MOTOR, STEPPER NMB 23KM-K286-01V
5 | [TWA808 80530095 GLASS,DIFFUSION W/4 PADS, SG
4 2 [TWAO8S 80560044 FLAG ASSY, YELLOW
3 2 [TWA08T 80560042 FLAG ASSY, CYAN
2 4 [TwA083 80140039 DAMPER ASSY, MTR BRAKE, HI-TEMP, .25 DIA
° I I [sPigl 90701149 COUPLER, SLIM-LINE .88 VIBRATION CONTROL
ITEM NO.| OTY. FILENAME PART NO. DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECIFIED|RELEASE DATE: CE. High €nd 2103 GRACT FARKS LANE
DIMENSIONAL TOLERANCES: | ENG: 0A Py ATy, aEans T8
DETAIL A D PLACE DECIuAL - o 3¢ [ME: = FAX (512) 832-4128  LIGHTWAVE
ScALE 1 250 2 PUACE DECIMALS 4013 [MFG: DRW- svasoma® hitp:/iwmw.highend. con RESEARCHa
SEE DETAIL B St HODULE. ASSY, COLOR, YELLOW/CYAN, S SVC
FOR PAINTED PARTS REFER TO ‘ ‘ ' ‘
ENG. SPEC. MANUAL W1-0592 fareain TR
AL COMPONENTS, NATERTALS AND [CHARTED N/A
FINISHES TO BE RoHS COMPLIANT
[wivomir | | INTERPRET DIMENSIONS PER S| [ ORAVING KO, e
THE RECEIVER ACCEPTS AND AGREES THAT, CICEPT AS AUTHORIZED BY HIGH END SYSTENS, THE BECEIVER VUL NG PCRIT T LSE OF THE OOCONENT 08 ANY COP TREREO 08 TiE s ?E\MRED YA‘N‘%LEMPJ&Q{’CUON METRIC N A TTA O 7 6 _ S \/C N A
OF THUAED 10N T DOEWEAT, O GPN AR LR HC DEENT Y1601 RTAIAG A1 1 T OAATON COTAIAED AERE . 11 A TORV WSO - e DiMENsons ARE N WILLveTERS| AT [oorsene o 1m0 [SheET: 1 07 2
70 3 ; S | ] 13 I L — 5 0 3 7 [ E—— 0 g 7 T g T T T




23 22 2 20 19 18 n 15

24
TTA0T6_SVC

NOTES: APPLICABLE TO VIEWS THIS PAGE ONLY

m REMOVE PROTECTIVE LINER FROM THE 4 ADHESIVE PADS
TO BOND THE DIFFUSION GLASS TO MOUNT PLATE. CENTER OVER APERTURE.

ENERGIZED MOTORS ARE REQUIRED TO PRODUCTION HOME FLAG
ASSEMBLIES AGAINST THE CLOSED STOP

ALIGN TOP EDGE OF FLAG ASSEMBLY TO BOTTOM GROOVE EDGE OF STOP FOR EACH FLAG

PROPRIETARY NOTICE:

THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH] AND IS GIVEN TO THE RECEIVER IN CONFIDENCE
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTENS, THE RECEIVER WILL NOT PERMIT THE USE OF THE DOCUNENT OR ANY COPY THEREOF OR THE
INFORMATION THERE IN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE T0 OTHERS [ITHER THE DOCUMENT OR THE INFORMATION THEREIN, AND WILL UPON COMPLETION

YELLOW *‘I/

FOR SERVICE
REFERENCE ONLY

YELLOW +2

UNLESS OTHERWISE SPECIFIED[RELFASE DATE: CE: High €nd 2103 GRACY FARMS LANE

DIMENSIONAL TOLERANCES: |ENG: QA AUSM) ;5“5272758

8 PLACE DECIMAL = £0-38 [ME- = FAX (512) 832-4128  LIGHTWAVE
£ A Bt i(] Gl DRI wvevamae® htp://uwn highend.com RESEARCHa

DESCRIPTION

FoR PAINTED PARTS RETER 70| NODULE, ASSY, COLOR, YELLOW/CYAN,SG SVC

ENG. SPEC. MANUAL WI-0592 [\ireaiar FINISH:

ALL COMPONENTS, NATERTALS AND | CHARTED N/A

FINISHES T0 BE RoHS COMPLIANT

WIN. DRAFT

INTERPRET DIMENSIONS PER
ASME Y14.5M-1994

THIRD ANGLE PROJECT ION
DIMENSIONS ARE IN MILLIMETERS

Sl

METRIC

A1l

PART NO.

NA

DRAVING NO.

TTAOT6_SVC

REV.

NA

OF THE NEED 10 RETAIN THE DOEUHENT OR_UPON DEMAND, RETURN THE DOCUMENT WITHOUT RETAINING ANY OF THE INFORMATION CONTAINED THEREIN W ANY FORM INATSOEVER
ey g s

g 3 T

g

DO NOT SCALE
5

SCALE: 0.750 lSHEET: 2 OF 2
T




